
1

739A Rhino Commercial 
- False Gutter Fiberglass Gutter Mount Adaptor Kit

Place these instructions in the vehicle’s glove box after installation is complete.

Parts List 
Important: Check the contents of kit before commencing fitment and report any discrepancies.

 Important: Please read these instructions carefully prior to installation.
  Please refer to your fitting instruction to ensure that the roof racks 
  are installed in the correct locations.
  For fitting of the leg to the false gutter, refer the leg fitting instructions.

4 Assemble the backing plate, washer and nyloc 
nut onto the bolt and tighten nut.

2 Drill the holes using a 6.5mm drill bit.  Use a 
dowelling twist or equivalent drill.  Clean all loose 
material from around the holes and surface.  

 Item    Component Name        Qty.      Part No.
   1 M6 Nyloc Nut          12        N013
   2 M6 x 12.5mm Flat Washer        12        W003
   3 2mm Backing Plate          4        C247
   4 Foam Gasket           4            -
   5 2mm Mounting Bracket          4        C246
   6 M6 x 30mm Cup Head Bolt        12        B254
   7 Fitting Instruction          1        RR50

3 Assemble the M6 x 30mm coach bolts through the 
false gutter, foam backing gasket (which has been 
already fitted) and drilled holes.  Check that the 
square on the bolt is inserted into the square hole 
in the false gutter.

Position the false gutter onto the vehicle, canopy     
ensuring that the gutter bracket is level.  Mark Hole 
positions.

5 Check that all false gutters are secure prior to 
fitting the legs.

Rhino-Rack
3 Pike Street, Rydalmere,     
NSW 2116, Australia.     
(Ph) (02) 9638 4744   (Fax) (02) 9638 4822 
 
Document No: RR-50
Prepared By: Sheila Oliveira Issue No:  03
Authorised By: Chris Murty Issue Date: 08/03/2016

These instructions remain the property of Fetovu Pty Ltd 
T/as Rhino-Rack and may not be used or changed for any 
other purpose than intended.

Rhino Leg Part Number Reference:
RL110-S2, RL150-S2, RL210-S2, RL280-S4

1
2

3
4

5
6

Note:
Item 4 has already been fitted.

rodr
Small Controlled


